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a. Fill in the following boxes.
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2. Determine whether each of the following series converges or diverges.
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3. Determine whether each of the following series converges or diverges.
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4a. Find all = satisfying the equation x-$3—x4+$6+$7—x9-x10+...§)_£
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4b. Show that Z <1.
~ n2+4

[ \s
g 2 kgl cam
h 4 x2rg WrL 2 o B
n=3 | ﬁ_ﬁ\—/‘i
-\W(WWC/ch‘>’;(€ 4’ &
_EC—4~
" TSN PA!
SPNRNIPIC SO B D
Z: y ¢ % ’



[20 points] 5

xn

= )(n\+ 2=}

C = = \ \Cv\h\ _ \\\v\ e ™) - e v
h (y\‘_lv‘).(y\{,{ﬂ \{ - N —reN \('b\\ h =) ’_’_’_,,\_—_’————’T')
(ne2 ) lurn

5. Find the interval of convergence of the power series Z mton
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[In this problem you may use the fact that n]i}m n*2™" =0 for all constants k.]
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